HIWIN
K99TE14-1611 9

Single Axis Robot
KK Series

The HIWIN KK Single Axis Robot is driven by a ballscrew while a guideway slides on an optimized U-rail to achieve
higher accuracy and greater stiffness.

1.1 Features

O An integrated system

O Easy installation and maintenance
O Compact and lightweight

O High accuracy

O High stiffness

O Complete line of accessories

Tail housing



10

HIWIN
K99TE14-1611

1.1.1 Modulization

The KK Single Axis Robot integrating a ballscrew and guideway forms a modularized product. The
modularized design can help customers save time, cost and system inspection. Therefore, installation

efficiency and a space-saving design are also promoted.

Traditional linear stage:

1 Table +
2 Guideways +

KK Single Axis Robot:

1 Ballscrew +
1 Rail

1 Ballscrew +
1 Base

1.1.2 Equivalent Load

The gothic arch contact design sustains load
from all directions and offers high rigidity and
accuracy.

1.1.3 High Stiffness

Using finite element analysis on the U-shaped cross section allows the volume and rigidity to be made
balanced, therefore, a high rigidity rail, compact design and a light weight design are also accomplished
simultaneously.

Moment of inertia Unit:mm¢ Y axis
Model no. I Iy ‘
KK30 7.554 x 102 12.726 x 103 ' Center of gravity
KK40 3.533x 108 5.317 x 104
KK50 9.6x 103 1.34 x 105
KKé60 2.056 x 104 2.802x 108
KK80 6.711x 10¢ 8.444 x 105 B S
KK86 7.445 x 104 1.134 x 106 .
KK100 1.296 x 105 2.035 x 105 |
KK130 2.546 x 10° 5.073 x 10¢

1.1.4 Various Specification

x : Moment of inertia computed about X axis

Iy : Moment of inertia computed about Y axis

KK Single Axis Robots of various specifications are developed, providing customers with different choices
relating to space and loading conditions.

Model no. W H (T . 1

KK30 30 15 ik @ il

KK40 40 20 = | .

KK50 50 26 } =
KKé0 60 33 M

KK80 80 45 'T_TIJ | Llr_h_l

KK86 86 44 ‘

KK100 100 55 ‘ w

KK130 130 65




1.2 Accessories

Accessories of KK Single Axis Robot are also supported for specific demands
bellows, motor adaptor flange and limit switchs.

O Aluminum cover and bellow: contamination protection

O Motor adaptor flange: connection for different types of motors
O Limit switchs: starting point, positioning and other safety matters

Motor adaptor flange

eCover *Bellows

HIWIN
K99TE14-1611

, such as an aluminum cover,

11



12

HIWIN
K99TE14-1611

1.3 Model Number of KK Series

KK 60 10 P E

|

KK Stage

Nominal Width:
30, 40, 50, 60, 80,
86, 100, 130

Ballscrew Lead:—
KK 30 :
KK 40 :
KK 50 :

KK 60
KK 80
KK 86

KK 100 : 20
KK 130 : 25

Accuracy Grade:
P: Precision, C: Normal

E: Ballscrew Special Order ——
None:

Rail Length (unit : mm)
KK30 :
KK4O0 :
KK50 :
KK&0 :

KK80
KK86

1

1

2
:5,10
: 10, 20
: 10, 20

Normal Type

400

75,100, 125, 150, 175, 200
100, 150, 200

150, 200, 250, 300

150, 200, 300, 400, 500, 600

: 340, 440, 540, 640, 740, 940
: 340, 440, 540, 640, 740, 940

KK100 : 980, 1080, 1180, 1280, 1380
KK130 : 980, 1180, 1380, 1680

E: Rail Special Order
None:

Normal Type

A

2

FO

SO M
|

M:Supply With Motor
None:Without Motor

Limit Switch:

S0: Switch Rail Only

S1: Omron SX671

S2: Omron SX674

S3: SUNX GX-F12A

S4: SUNX GX-F12A-P

S5: YAMATAKE APM-D3B1-03
(suitable for KK30)

SE: Sensor Special Order

None: No Limit Switch and

Switch Rail

C: Aluminum Cover
B: Bellows
None: Normal Type

Motor Adaptor Flange
ref. catalog (P.30~P.36)

E: Block Special Order
None: Normal Type

Number of Blocks: 1 or 2

Block Type:
A: Normal
S: Short



1.4 Specifications

Model No.

KK3001

KK4001

KK5002

KKé6005

KKé010

KK8010

KK8020

KK8610

KK8620

KK10020

KK13025

Precision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

Precision

Normal

Nominal

Diameter (mm)

(mm)

20

25

Guideway

Allowable Static
Moment M; (N-m)

(pitching)

Static Rated Moment

Allowable Static
Moment My (N-m)
(yawing)

HIWIN
K99TE14-1611 13

Allowable Static
Moment Mg(N-m)
(rolling)

Block Block Block Block Block Block Block Block Block Block Block Block Block Block
S2 A1

M:
oy I I s S S
/ e\
2 ARE
Ballscrew
Basic Basic
Basic: | East Dynamic Static
el . asic s:il'c Load Load
yLnan:c La :: Rating Rating
oa oa N) (N)
(N) (N)
Block Block
A S A s A1
647 1088
1 2210 - 3510 - 14
618 1079
735 1538
1 3920 - 6468 - 33
676 1284
2136 3489
2 8007 - 12916 - 116
1813 2910
3744 6243
5 13230 7173 21462 11574 152
3377 5625
2410 3743
10 13230 7173 21462 11574 152
2107 3234
7144 12642
10 31458 21051 50764 29475 622
6429 11387
4645 7655
20 31458 21051 50764 29475 622
4175 6889
7144 12642
10 31458 21051 50764 29475 622
6429 11387
4645 7655
20 31458 21051 50764 29475 622
4175 6889
7046 12544
20 39200 - 63406 - 960
4782 9163
7897 | 18931
25 48101 - 84829 1536
7092 14352

A2

73

182

545

760

760

3050

3050

3050

3050

4763

7350

S1

72

72

228

228

228

228

S2

367

367

1309

1309

1309

1309

Al

33

116

152

152

622

622

622

622

960

1536

A2

73

182

545

760

760

3050

3050

3050

3050

4763

7350

S1

72

2

228

228

228

228

367

367

1309

1309

1309

1309

41

81

222

419

419

1433

1433

1507

1507

2205

3885

A2

82

162

Lhh

838

838

2866

2866

3014

3014

4410

7770

S1

241

241

800

800

847

847

S2

482

482

1600

1600

1694

1694



HIWIN
14 K99TE14-1611

1.5 Accuracy Grade

Unit : mm
Rail Repeatability Accuracy Running Parallelism  Starting Torque(N-cm)
Model
Length Precision Normal Precision Normal Precision Normal Precision Normal
79
100
125
KK30 g +0.003 +0.004 0.02 0.04 0.01 0.02 1.2 0.8
175
200
100
KK40 150 +0.003 +0.005 0.02 - 0.01 - 1.2 0.8
200
150
200
KK50 +0.003 +0.005 0.02 - 0.01 - 4 2
250
300
150
200
+0.003 +0.005 0.02 - 0.01 - 15 7
300
KKé60
400
500
+0.003 +0.005 0.025 - 0.015 - 15 7
600
340
440
+0.003 +0.005 0.025 - 0.015 - 15 10
540
KK80
640
740 +0.003 +0.005 0.03 - 0.02 - 17 10
940 +0.003 +0.005 0.04 - 0.03 - 23 10
340
440
+0.003 +0.005 0.025 - 0.015 - 15 10
540
KK86
640
740 +0.003 +0.005 0.03 - 0.02 - 17 10
940 +0.003 +0.005 0.04 - 0.03 - 25 10
980
+0.005 +0.01 0.035 - 0.025 - 17 12
1080
KK100 1180 +0.005 +0.01 0.04 - 0.03 - 20 12
1280 0.045 0.035 23
+0.005 +0.01 - - 15
1380 0.05 0.04 25
980 0.035 0.025 25 15
1180 +0.005 +0.01 - -
KK130 0.04 0.03 25 15
1380

1680 +0.007 +0.012 0.05 = 0.04 = 27 18



HIWIN
K99TE14-1611 15

1.6 Maximum Speed Limit

Ballscrew Lead Rail Length Speed (mm/sec])
Model (mm) (mm]) Precision Normal
75 160 160
100 160 160
125 160 160
KKan U 150 160 160
1173 160 160
200 160 160
100 190 190
KK40 01 150 190 190
200 190 190
150 270 270
200 270 270
KKS0 02 250 270 270
300 270 270
150 550 390
200 550 390
05 300 550 390
400 550 390
500 550 390
600 340 340
KK60 150 1100 790
200 1100 790
10 300 1100 790
400 1100 790
500 1100 790
600 670 670
340 740 520
440 740 520
10 540 740 520
640 740 520
740 740 520
940 610 430
HIED 340 1480 1050
440 1480 1050
20 540 1480 1050
640 1480 1050
740 1480 1050
940 1220 870
340 740 520
440 740 520
10 540 740 520
640 740 520
740 740 520
940 610 430
HiBE 340 1480 1050
440 1480 1050
20 540 1480 1050
640 1480 1050
740 1480 1050
940 1220 870
980 1120 800
1080 980 800
KK100 20 1180 750 750
1280 630 630
1380 530 530
980 1120 800
1180 1120 800
el 23 1380 830 800

1680 550 550



HIWIN
16 K99TE14-1611

1.7 Life Calculations

1.7.1 Service Life

Under repeated stress between the raceway and the rolling elements, pitting and flaking will occur as it
reaches fatigue failure. The service life of the KK Single Axis Robot is defined as the distanced traveled
before any failure of the raceway or rolling elements appear.

1.7.2 Nominal Life (L)

The service life varies greatly even when the KK units are manufactured in the same way or operated
under the same conditions. For this reason, nominal life is used as the criteria for predicting the service
life of a KK unit.

1.7.3 Nominal Life Calculation

The calculating formulas are divided into two parts, guideway and ballscrew. The smaller value of the
two would be the recommended nominal life of the KK unit.

Nominal life formulas for both the guideway and ballscrew depend on several parameters and are
shown below.

Guideway

ﬁ Cc .2 L :Life Rating (km) C : Basic Dynamic Load Rating (N)
L= (— — ) X 50 km  f : Contact Coefficient (ref. Table 1) P, : Calculated Loading (N
fw P, fw : Loading Coefficient (ref. Table 2]

Table 1
Block Type Contact Coefficient f;
A1, 51 1.0
A2,S2 0.81
Table 2
Operating Condition Loading
Thrust and Vibration Velocity (V) Coefficient /i
No Thrust V<15m/min 1.0~15
Low Vibration 15m/min <V <60m/min 1.5~2.0
High Vibration V>60m/min 2.0~35

Ballscrew and Bearing

a
6
x 10°rev f» @ Loading Coefficient (ref. Table2) P, : Axial Loading (N)

L 1 C = L : Life Rating (rev.) C, : Basic Dynamic Load Rating (N)



HIWIN
K99TE14-1611

1.8 Lubrication

Insufficient lubrication of the guideway would lead to a reduction of the service life.
The lubricant provides the following functions:

® Reducing rolling friction and avoiding abrasion

® Providing a lubricating film and extending the service life

® Anti-rusting

1.8.1 Lubricating Grease

Re-lubricating the KK Single Axis Robot every 100km is recommened. Generally, grease is applied for speeds under
60 m/min. For operating speeds over 60 m/min, a grease with a higher viscosity should be used.

_ 100 x 1000 T : Lubricating frequency (hrs)
T = -
Ve x 60 Ve . Speed (m/min)

1.8.2 Grease Nipple

1 Block
M @ |elrle  H® 0] +
= — _ B = — al
* Iz °
&Y [o[+1¢ | & il
Grease nipple
2 Blocks Grease nipple
o o [ele]e s[+[o |5 e
— - — - —— - T K L
* Ale[+]% SnalEER
Grease nipple
Types of grease nipple
KK40 KK50 KK100
KKé60 KK130
KK80
KK86
M4x0.7P {
Méx0.75P ,

NO. 34310010 NO. 34310002 NO. 34310008

17



HIWIN

18

K99TE14-1611

1.9 Dimensions

1.9.1 Without cover
KK30

40 2xn-@3.4 THRU,06.5x2 DP
2x2-M2.6x0.45Px3.5 DP\ N 2] M. e D s enewey o 5
22 2 LUBE HOLE s N ‘ -
| ?g o ek 1"
& i || A o Q
. U (o ¢ |U — =
= %{}A C“TZI B I o S Ry R s == i 1 e e e gec,?
o] 16 [8]_ 9y @ ! 01elele| D © 1o |= H— s
30 f || = =, i
SECTION A-A 2x2-Max0. 5055 OF H 4 5.57.5 §
2-M2.6x0.45Px3.5 DP 5x1.2 DP i
2 L2 24.5
L1
29.6
4-B3 THRU
n
S VIEW B
° G}\\J/
! 25 R
o~
VIEW B
Rail Length  Total Length Maximum Stroke (mm) & (mm) Mass (kg)
L2 (mm L1 (mm) mm n
A1 Block A2 Block A1 Block A2 Block
75 129 31 - 12.5 7 0.2 -
100 154 56 25 2 0.23 -
125 179 81 45 12.5 3 0.26 0.3
150 204 106 70 25 3 0.29 0.33
175 229 131 95 12.5 4 0.32 0.36
200 254 156 120 25 4 0:35 0.39
4-M3x0.5Px4.5 DP 58 2xn-@3.4THRU,@6.5x3 DP
33
2x2-M3x0.5Px6 DP 2.5 2x2-M2.6x0.45Px4 DP 20 | 5
26 = [
18 _ // [ 10
- I = IR EN ol .
U Ul of | m————— [ | [ |IF——4| | |«
| (oo " | S s N R
TS el &0 ) slplo | H® dle -
18 _| 1 /| fi
o I
40 2-M2.6x0.45Px4.5 DP 10x1.2 DP 6
SECTION A-A 5 L2 5
‘ L1
49
12 25
4-M3x0.5Pxé DP 14.5
8
A |
’ ny
= — 1 & —— tr VIEW B
. i | % S
A — T o S N
11 ;» 5
60 G Q
(n-1)x60
Rail Length  Total Length Maximum Stroke (mm) 6 (mml Mass (kg)
(mm) L1 (mm) mm =
L2 A1 Block A2 Block A1 Block A2 Block
100 159 36 - 20 7 0.48 -
150 209 86 34 15 3 0.6 0.67
200 9259 136 84 40 3 0.72 0.79



KK50

4-M4x0.7Px6.5 DP

HIWIN
K99TE14-1611

2x2-M2.6x0.45Px4 DP 7 20 1065 TR 06xt DF
2x2-M3x0.5Px 8 DP 30
35 ,
‘ 25 ’ ¥ /L Y
— - @ | dldedF @ 4 .
JlEh ol ——— ==l | |5
TR He @ " YEl#F © [ -
25 f12.5 i/
50 o 2-M3x0.5Px4 DP, 15x1.3 DP 5.7
SECTION A-A L 5 .
]
60
14 34
4-M3x0.5Px6 DP 16.5
PCD 33 \ 10 10
,—I\\ ¥ T A |
10 e v cﬂj%@i&ztn rrw = - g
Sl & 5 3| 1 ,7,7@7”777#&,77L,777&777, STy VIEWB
) e > :
°$b\,ﬁ€>% °lﬂ ot/ T sr——1 =
—A 80 G =
VIEWSB (n-1]x80
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
L2 mm? 19 (i Glmm) K(mm) n
mm A1 Block A2 Block A1 Block A2 Block
150 220 70 - 35 80 7 1 -
200 270 120 55 20 160 3 1.2 1.4
250 320 170 105 45 160 3 1.4 1.6
300 370 220 155 30 240 4 1.6 1.8
KKé0 (Standard)
82 4-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 51 2xn-25.5 THRU,@9.5x4.7 DP
2x2-M3x0.5Px8 DP 30
42
Y U /- 7
30
[ | I s T ole]d ]@ il e N
= o
3 il > — §l_—_ﬁ%_"__:—_4X I
tl 7 BINN e i @E BRE ]@ 0l ¢ -
30 [15]5 . :
60 2-M2.6x0.45Px3 DP/|. _|15x1.5 DP 6
SECTION A-A ‘ K 6
(m-1)xK
7 L2 7
K]
59
18.5 _30.5
4-M3x0.5Px8 DP 15.5
PCD 40 a1 9|
A m T
g /g 1 ([ 152 _ViEWB
b o 1" o E ° - 8
! R P/ A L7 B I =
ml LoA §
< 100 G
(n-1)x100
Rail Length Total Length Maximum Stroke (mm) G(mm) K (mm) Mass (kg]
Lol |13 (mm) — R m
A1 Block A2Block A1 Block A2 Block
150 220 60 - 25 100 2 2 i85 -
200 270 110 - 50 100 2 2 1.8 -
300 370 210 135 50 200 3 2 2.4 2.7
400 470 310 235 50 100 4 4 3 3.3
500 570 410 335 50 200 5 3 3.6 3.9
600 670 510 435 50 100 [ 6 4.2 4.6

Note:Special ballscrew spindle end of 8 mm diameter is available, please contact hiwin if necessary.

19



HIWIN

20  K99TE14-1611

KKé0 (Light Duty)

59 2-M5x0.8Px8 DP
2xm-M2.6x0.45Px4 DP 28 r 2xn-@5.5 THRU,@9.5x4.7 DP
2x2-M3x0.5Px8 DP d4]
4 [T |4
*x @ ///’ : ¢L{ ]@ E_ 4 ] B
ﬁk*******/f**fﬁﬂ*f*f*f*%ﬂ g
< i @ (€ 2o ]@ IK3 |
/ i
60 2-M2.6x0.45Px3 DP 10x1.5 DP 5
SECTION A-A .
(m-1)xK
7 L2 i
L1
59
18.5_305
4-M3x0.5Px8 DP 1 5.5
PCD 40 e []
A
B e ———— ‘%Hgi,ui,i,j, g e e e 5
° " ° ‘ -3 — | g
L/ A ‘ LT =
- A 8
100 G
(n-1)x100
VIEW B
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
p— L1 ferire) G(mm) K(mm) n m
L2 mm S1Block  S2Block S1 Block
150 220 85 34 75 100 2 2 1.4
200 270 135 84 50 100 2 2 1.7
300 370 235 184 50 200 3 2 2.3
400 470 335 284 50 100 4 4 2.9
500 570 435 384 50 200 5 3 3.5
600 670 535 484 50 100 6 [ 4.1

Note:Special ballscrew spindle end of 8 mm diameter is available, please contact hiwin if necessary.

KK80 (Standard)

116

VIEW B

S2 Block

1.6
1.9
29
3t
39,
4.3

75
2xm-M2.6x0.45Px4 DP 2-M2.6x0.45Px4 DP 46 4-M6x1Px12 DP
56
m 2 2-Mx0.7Px10 DP 15x2 DP 2xn-06.6 THRU,011x6 DP
| 43 S {7 7 L 7
[ 5 | © ‘I‘i J1° 4T d |
- o — L — — — g — L o~
SiF: : g I g 5 = :
=] ol ® R © f & l+| < a P
S I i PElAd
BT A o 6 |l 7.5
80 2
SECTION A-A ‘ 200 H
(m-1)x200 6
88
23 51
4-M5x0.8Px10 DP 128, 8i>
P.C.D. 70 __]Ar_ 18
i rn—l—m—:rim—r—n ol HINE
| o ,1/1 Tt o 1 =HF 2 g2 VIEW B
v S a * + + s 3
‘ angy o o = ——H! =
* L—A =
4-M4x0.7Px8 DP 100 70 g
P.C.D. 60 , [n-1lx160 ©
VIEW B L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
L2(mm] L1 (mm) Himm)  n 5
mm A1 Block A2 Block A1 Block A2 Block
340 440 216.5 108.5 70 3 2 5 6
440 540 316.5 208.5 20 4 3 6.5 1.2
540 640 416.5 308.5 70 5 3 7.6 8.3
640 740 5165 408.5 20 [ 4 8.8 915!
740 840 616.5 508.5 70 7 4 10 10.7
940 1040 816.5 708.5 70 9 5 12.4 13.1



HIWIN

K99TE14-1611 21
84
KK80 (Light Duty) “
2xm-M2.6x0.45Px4 DP 15x2 DP "7 | 2:Méx1Px12DP
56
b 2x3-Méx0.7Px10 DP 2-M2.6x0.45Px4 DP 2xn-@6.6 THRU,011xé DP
43 SellilL i 7 L
I | i G i T8 T d i
9] O Lq 3 — - — = — = — g[ TR
a o & Y @_ﬂ L [+]® || —
TR [ i PRl Ra
lss_ 7| o 6 ||, 7.5
80 ©
SECTION A-A ‘ 200 H
(m-1)x200 6
88
23 51
4-M5x0.8Px10 DP 128, 3.5
P.C.D. 70 L % 18
W 4>A E * 1
1 i | 2
| 10 il 1 ql— — £ 2 g2 VIEW B
= c:" ] + /I + + “L = E
| a8 o e
* ‘ L—A ~
i =
| 100 70 =
P.C.0.60 (n-1)x100
VIEW B L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
[mm? H (mm) n m
L2 L1 (mm) S1Block  S2Block S1Block  S2Block
340 440 248.5 172.5 70 B 2 5 5.4
440 540 348.5 272.5 20 4 3 6.2 6.6
540 640 4485 3725 70 5 3 7.3 )
640 740 548.5 472.5 20 [ 4 8.5 8.9
740 840 648.5 572151 70 7 4 87 10.1
940 1040 848.5 772.5 70 9 5 121 1205
KK86 (Standard) e
2xm-M2.6x0.45Px4 DP m 4-M6x1Px12 DP
2%2-M4x0.7Px10 DP 2-M2.6x0.45Px4 DP 15x2 DP 2xn-@6.6 THRU,P11x6 DP
60 o ¥ ‘f T | —
46 WJ,‘ T e T & _@/ d i
5 ¥ N Th— B i  —| T
| (o 8 o 9le[Je|Pe ' |
46|20 ° i &
86 0 65 || 7.5
< 200 H
SECTION A-A (m-1)x200 65
87
23 _ 50
4-M5x0.8Px10 DP 28 35
PCD 70 3 1]
m A q—_mJ 7‘ 13
D g | e ————— || =18 55 _VIEWSB
2| _ % J‘I & | P | Q| B
A ] oy Lo——pi18
? 1T ‘——A g
4-M4x0.7Px8 DP 100 70 S
PCD 60 (n-1)x100
VIEW B L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
L2(mm] L1 (mm) H{mm) n =
mm A1 Block A2 Block A1 Block A2 Block
340 440 216.5 108.5 70 3 2 5.7 6.5
440 540 316.5 208.5 20 4 3 6.9 7
540 640 416.5 308.5 70 5 3 8.0 8.8
640 740 516.5 408.5 20 [ 4 9.2 10.0
740 840 616.5 508.5 70 7 4 10.4 11:2
940 1040 816.5 708.5 70 9 5 11.6 12.4

Note:Special ballscrew spindle end of 10 mm diameter is available, please contact hiwin if necessary.



HIWIN

22 K99TE14-1611

KK86 (Light Duty)

84
2xm-M2.6x0.45Px4 DP 15x2 DP 43 2-Méx1Px12 DP
2x2-M4x0.7Px10 DP 2-M2.6x0.45Px4 DP 21.5 2xn-@6.6 THRU,D11x6 DP
60 N T 'f T T ]+
.46 W‘ @[ & —@/ dl i
b S+ —— =+ -4
< AV ~ [ ®
% P e o ALl 1fe H L
|46 _|20 e i 4
86 - 65 || 7.5
< 200 H
SECTIONA-A (m-1)x200 6.5
87
50
4-M5x0.8Px10 DP 28 35
PCD 70 13 18
w A q»—m_' 7‘ 3
o = B I e | pp——— R A p— p——— | B —++—1%8| 22| VIEWB
) 3 1T = e 8| =
— - + ji | + Q
| | ot A oy L
f f ” . ]
100 70 8
(n-1)x100
L2
VIEW B E
Rail Length Total Length Maximum Stroke (mm) Mass (kg]
L2(mm] L1 (mm) Hismm)t o m
mm S1 Block S2 Block S1 Block S2 Block
340 440 248.5 172.5 70 3 2 5.4 59
440 540 348.5 272.5 20 4 3 6.6 7.1
540 640 448.5 372.5 70 ) 3 7.7 8.2
640 740 548.5 472.5 20 6 4 8.9 9.4
740 840 648.5 5725 70 7 4 101 10.6
940 1040 848.5 772.5 70 9 5 11.3 11.8
Note:Special ballscrew spindle end of 10 mm diameter is available, please contact hiwin if necessary.
142.6
KK100 95
50
2xm-M2.6x0.45Px4 DP 20x1.5 DP 4-M8x1.25Px15 DP
7 2x2-M4x0.7Px10 DP 4-M3x0.5Px6 DP 8 2un- @9 THRU,514x8.5 DP
50 K 1 T T 7 1
I | © N @ dl e8¢ TH S | ° ]
(P S === EEEN
s e | o A emelp e -
50 _|25 = i o
100 - 7.5 8
200 H 7.5
SECTION A-A
(m-1)x200
9%
27 45
4-M5x0.8Px10 DP o
| gas | o070 15 22
I \’ F"-‘o —A _ﬂ;l_
— F\V\ T
o~ ~ | = i — | & 7@ |__qi | |
N / e > | ; . n
w"nlo) & J Ay [ — T ] e
= N 11 o =
} f L-A 5 2,
VIEW B 150 G sl g
(n-1)x150 Q
L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg
e L1 frvirol G (mm) H(mm) n m
L2 mm A1Block  A2Block A1Block  A2Block
980 1089 828 700 40 90 7k 5 18.6 20.3
1080 1189 928 800 15 40 8 6 20.3 22.0
1180 1289 1028 900 65 90 8 6 22.0 23.7
1280 1389 1128 1000 40 40 9 7 23.6 25.3
1380 1489 1228 1100 15 90 10 7 25.3 27.0

VIEWB



HIWIN
K99TE14-1611 23

KK130 157

83

108
2xm-M2.6x0.45Px4 DP 4-M3x0.5Px6 DP oA bs 4-M10x1.5Px20 DP
S i T D } 8 2xn-@11 THRU,@17.5x10.5 DP
95 . | v I v v
70 e || / .10
&) // © [ & @ | »
T - . i \
g A0 o g - —— = =& 8
e ,, i 2
B TR © | e o [ o o [ )
130 10 = ” ]
9 12
SECTION A-A 200 H 9
(m-1)x200
100
8-Méx1Px12 DP 35__35 35
PCD 90 29
121 18 16
> N o —=A
FF /\‘éo E . B QJ_ Ll 5
o — il — 1l 55 M — ‘ g €2 VIEW B
R L=< ” s t ) E -
— 3 ‘—$ L ¢ _ . o * _| | )
N BN EA T =5 i i
EEREEN + — i 3
- 150 6 2
VIEWB (n-1)x150 8
L2
L1
Rail Length Total Length Maximum Stroke (mm) elml Wil 0 Mass (kg)
L2(mm)  L1(mm)  A1Block  A2Block A1Block  A2Block
980 1098 811 659 40 90 7 5 29.4 32.3
1180 1298 1011 859 65 90 8 6 34.3 37:2
1380 1498 1211 1059 90 90 9 7 392 421
1680 1798 1511 1359 90 40 1" 9 46.5 49.4



HIWIN

24 K99TE14-1611

1.9.2 With cover

KK30

44 23
» ‘ 262-M2.6x0.4SPXGDP | @ |, Moo op 2xn-B3.4 THRU,06.5x2 DP
| | | | 2x2-M2.6x0.45Px3.5 DP T e R BUTION
| ——=| I} O &
i (&4 02 LUBE HOLE
o o © N
2 0OR ¢ hd==—Hmr}
T t . L N
14 |8 | 2 S
T ted ek
SECTION A-A 5.57.5 g
2 24.5
44
10 11.5 25
. A
NP 0.0
2 mm1m S b H%]; - ] . VIEW B
- 2‘ W\L_) /W B ™ . 1)#?7 R
[ 4q cl | e ) H i \TIV,J ] 2
1 25 R u-g[ LoA| 50
4-B3THRY/ a s (n-1)x50 G
Rail Length  Total Length Maximum Stroke (mm) Mass (kg]
( j G (mm) n
L2 (mm L1 (mm] A1 Block A2 Block A1 Block A2 Block
75 129 31 L 12.5 2 0.2 -
100 154 56 B 25 7 0.23 -
125 179 81 45 12.5 3 0.26 0.3
150 204 106 70 25 3 0.29 0.33
175 229 131 95 125 4 0.32 0.36
200 254 156 120 25 7 0.35 0.39
KK&0 58 4-Méx0.7Px14 DP
33
. T — = 2xn-@3.4 THRU,@6.5x3 DP

2x2-M2.6x0.45Px4 DP

=i i
o ,
[Tol
g e A B L [
18 |11 |
40
SECTION A-A L2
L1
49
12 25
4-M3x0.5Px6 DP 145
PCD 29 10 —A 8
Pz 1] fILI
Sl FX 5 "8l e 7#%7_{7 Hl—l hg{ %% VvIEwB
o o ) IV N
‘ O %, g/ ﬁil o/ —_ ST .
== 17 L. =
m‘ A S
VIEW B P 60 S
(n-1)x60
RailLength  Total Length Maximum Stroke (mm) Mass (kg)
imm 1 ] G (mm) n
L2 mm A1 Block A2 Block A1 Block A2 Block
100 159 36 s 20 7 0.55 =
150 209 86 34 15 3 0.48 0.76
200 259 136 84 40 3 0.82 0.89



HIWIN
K99TE14-1611

62 Zl'; 4-M4x0.7Px10 DP
% - 2x2-M2.6x0.45Px4 DP 30 2xn-@4.5 THRU,@8x4 DP
‘—" 9|
#
Si : N
2 e TS
‘r T =) =)
25 125
50 &
SECTION A-A 2x2-M3x0.5Px4 DP. 8
K G
L2
K]
60
14 34
4-M3x0.5Px6 DP 165
PCD 33 10 A 10
T ] & i TIERA '
0 I— b Toe Il gt i L ad ([ | 48
g o ) g e e, e e T VIEWS
NS S > IS 21l — /i T o [y ="
g 2 - 8
S VIEW B S 80 G
(n-1)x80
Rail Length Total Length Maximum Stroke (mm) G(mml K(mml n Mass (kg)
L2(mm] L1 (mm) Al1Block  A2Block A1 Block A2 Block
150 220 70 - 35 80 2 il 5
200 270 120 55 20 160 3 1.3 15
250 320 170 105 45 160 3 1.6 1.8
300 370 220 155 30 240 4 1.8 2.0
KK60 (Standard)
82
2x2-M2.6x0.45Px6 DP 2% 4-M5x0.8Px8 DP
8
5o 2xm-M2.6x0.45Px4 DP I 2xn-@5.5 THRU,@9.5x4.7 DP
A ‘ o~ e &
I | i iay/a i?ﬁiﬁ—i—i—i—?—i—iﬁf j;iii O
@ N % i @}4 1415 14 i & .

@ i [l et fenlententer ::::ﬁlﬁftkfk‘ﬁ::::::* <
S T A v I T e & [ N ek iy el
S e N IS - -3 3 =S L |l

e i e I e i i ik r
30 15| = SO A ===y I | )
60 e O e O 5
} K G
SECTION A-A TR
L2
L1
59
4-M3x0.5Px8 DP 18 1535?'5
PCD 40 i A =2
| ” - §
: % i I Q w
o // : 1 3
. SRR L= TR —— JE = JIEWE
° " ° ! ° — | 8
‘ { I A B— I =
4-M4x0.7Px8 DP, N\ 2‘ %0 G .
PCD40  \\ews (n-1)x700
Rail Length Total Length Maximum Stroke (mm] 6(mml Kimml n o Mass (kg)
L2 (mm] L1 (mm) A1 Block A2 Block A1Block A2 Block
150 220 60 C 25 100 2 2 1.7 -
200 270 110 . 50 100 2 2 2.1 .
300 370 210 135 50 200 3 2 2.7 3.0
400 470 310 235 50 100 4 7 3.3 3.6
500 570 410 335 50 200 5 3 3.9 4.2
600 670 510 435 50 100 6 6 46 5.0

Note:Special ballscrew spindle end of 8 mm diameter is available, please contact hiwin if necessary.

25



HIWIN
26  K99TE14-1611

KKé60 [nght Dutyl 59 2-M5x0.8Px8 DP

74 2xm-M2.6x0.45Px4 DP == 2xn-@5.5 THRU,@9.5x4.7 DP

LJ\E@‘ ‘Lffff%fij@,,
& 1 | N
@ f Clmili ettt et L2
o 16| el N ;%::::i=::” NI w0
~ t\ | "T B‘NN L,,,,Si},,” S -
30 15 ; L. L :%[::J::::;;;l:::
60 l L £ | 6
SECTION AA 2-M2.6x0. ‘5Px6 DP lz:,(l .
(m-1)xK
L2
K]
59
4-M3x0.5Px8 DP 1832905
PCD 40 - 11 —A 5
== 7( \;‘o ] ! :
o || g‘g IS ,___,_/ﬁ/_‘_aﬂmm "ﬂ‘_‘_‘_f[_JEZ‘_, </ _VIEWB
N & 4 ° i ° ° - §
° «a%\//}*‘%\‘%’/“ | Y —" | T .~
| mf A 8
4-M4x0.7Px8 DP P 100 G
PCD 40 (n-1)x100
VIEWB
Rail Length Total Length Maximum Stroke (mm] Mass (kg]
(o) L1 (mm) G(mm) K(mm) n m
L2 mm S1Block  S2Block S1Block  S2Block
150 220 85 34 25 100 2 2 1.6 1.8
200 270 135 84 50 100 2 2 1.2 2.1
300 370 235 184 50 200 3 2 2.5 2.7
400 470 335 284 50 100 4 4 31 3.3
500 570 435 384 50 200 5 3 3.7 319
600 670 535 484 50 100 6 6 A 4.6
Note:Special ballscrew spindle end of 8 mm diameter is available, please contact hiwin if necessary.
KK80 (Standard) e
- 104 . 4-M6x1Px12 DP
92 2xm-M2.6x0.45Px4 DP A-M2.6x0.45P%4 DP. 1'56 AEEE
30 \ iR 2xn-@6.6 THRU,®11x6 DP
— L [ S &
oL _* I v P L
0. — — — - — e — 2 ]
mﬁﬁﬂﬂ | A EUR ﬁ*@# N |
S L = ==Ex :ﬁ}!ﬁf—* ===E 2
== Amal i yi
s o @ ¢ |+l &
| _h = i /| e e T et Q**r@
5 6 hr| ‘ > =5
80 ~
200 H
SECTION A-A ‘
(m-1]x200
88
23 _ 51
4-M5x0.8Px10 DP 28 23
P.C.D.70 \ #« —A 18
= ;1‘ w UJ J 7‘ o
3| 0 i) FF_ fid ] L']‘ == g ?? VIEW B
Q‘ TR - » 188
| 0 o - ——p—1s
} ‘ L—a s
‘ 100 70 s
‘ (n-1)x100
L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg]
fonm] L1 (mm) H (mm) n m
L2 mm A1Block A2 Block A1Block A2 Block
340 440 216.5 108.5 70 3 2 6 7.1
440 540 316.5 208.5 20 4 3 7.2 8.3
540 640 416.5 308.5 70 5 3 8.4 9.5
640 740 516.5 408.5 20 6 4 9.7 10.8
740 840 616.5 508.5 70 7 4 10.9 12
940 1040 816.5 708.5 70 9 5 13.5 14.6



HIWIN

K99TE14-1611 27
KK80 (Light Duty) y
104 43 1
2xm-M2.6x0.45Px4 DP Je 2 6v0.450%4 BF, - 2-Méx1Py12 DP
‘ Y =l 2xn-06.6 THRU,@11x6 DP
— ‘ P - @J",fﬁ;f, e o 9
\ i jﬁ I \ 1
2 ?% TeAd | e Sk e ]
™ — — e —1 - — _—
@F i T N
5 |46 _h7 ' [ & | 7.5
80 < ‘ 200 H
SECTION A-A ‘
(m-1)x200 58
23 51
4-M5x0.8Px10 DP 128_ 3i5
P.C.D. 70 \ 12 —A 18
fausg] Ft;}, t u;]
= It = = q N ] 3
3 0 il 1 I il ] —H 2 ?c? VIEW B
Q‘ . . . IS8
L] a2 a2 — —
? ’ —A s
’ 100 70 s
| (n-1)x100
L2
L1
Rail Length Total Length Maximum Stroke (mm) Mass (kg)
L2(mm] L1 (mm) Himm)  n i
mm S1 Block S2 Block S1 Block S2 Block
340 440 248.5 1725 70 3 2 55 6.1
440 540 348.5 2125 20 4 3 6.8 7.4
540 640 4L48.5 37125 70 5 3 719 8.5
640 740 548.5 4725 20 6 4 97 9.8
740 840 648.5 h725 70 7 4 10.5 1.1
940 1040 848.5 772.5 70 9 b 13 13.6
KK86 (Standard) e
75
112 4-M2.6x0.45Px6 DP 46 4-Méx1Px12 DP
-0 | 5m-M2.6x0.45Px4 DP - 2xn-@6.6 THRU,@11x6 DP
’I_L_]‘ \ B S~ &
® T Tl | e 5 | R @
\L*_*—*@j}u*‘{‘ 5 T | ba;“—“i r
@ o i B I s eaadeviop i },“*‘Li*ﬂ ]E,:::,:ZEQULL L
e B I Ea- e S el =Pty | |
"’ o = I - S gmw mjl ,,,,,, 4 |
46 20 @ o e O e e ®
86 0 IM;J 7.5
< H
SECTION A-A {m-1)x200
87
23 _ 50
4-M5x0.8Px10 DP T a5
PCD 70 13 A 18
-
i _ 5 ) ] )
D Z 3 2 1 I : m
2 ((5 ] N T T e e— i [P | [ 19 93 _VIEWSB
iy i 8, = i | e | PR 1N 8
2. A A ] ——— =
} f Y &
4-Méx0.7Px8 DP 100 70
PCD 60 (n-1x100
L2
VIEW B X
Rail Len?th Total Length Maximum Stroke (mm) Himm] n 0 Mass (kg]
L2 (mm L1 (mm] A1 Block A2 Block A1 Block A2 Block
340 440 216.5 108.5 70 3 2 65 e
440 540 316.5 208.5 20 4 3 7.8 8.6
540 640 4165 308.5 70 5 3 9.0 9.8
640 740 516.5 408.5 20 6 4 10.3 113
740 840 616.5 508.5 70 i 4 11.6 12.4
940 1040 816.5 708.5 70 9 5 13.0 18.8

Note:Special ballscrew spindle end of 10 mm diameter is available, please contact hiwin if necessary.



HIWIN
28  K99TE14-1611

KK86 (Light Duty)

84
43
112 4-M2.6x0.45Px6 DP 215 | 2-Méx1Px12 DP
+— 2xm-M2.6x0.45Px4 DP *rf 2xn-26.6 THRU,@11x6 DP
| pbrosseion
Mﬁ@ . ,
|
%3 Van f i | 1T
) il =
IS s AL |
46 |20
86 1o
~
SECTION A-A (m-11x200
87
23 _ 50
4-M5x0.8Px10 DP 28 35
PCD 70 13 A -2
” I i 7| P
R T I e e— Cll:i g F——— | [ —=— g‘: VIEW B
— 0 | re)
e — o — L 2 A
; LA 5
4-M4x0.7Px8 DP 100 70 S
PCD 60 (n-1)x100
VIEW B L2
L1
RailLenFth Total Length Maximum Stroke (mm) Himm) n o Mass (kg]
L2 (mm L1(mm]  s1Block S2 Block S1 Block S2 Block
340 440 248.5 1725 70 3 2 63 7
440 540 348.5 2725 20 4 3 7.6 8.4
540 640 4485 372.5 70 H 3 8.8 9.6
640 740 548.5 4725 20 6 4 10.1 11.1
740 840 648.5 572.5 70 7 4 11.4 12:2
940 1040 848.5 772:5 70 9 5 12.8 13.6

Note:Special ballscrew spindle end of 10 mm diameter is available, please contact hiwin if necessary.

KK100

142.6
95
124 4-M3x0.5Px6 DP 50 4-M8x1.25Px15 DP
110
95 2xm-M2.6x0.45Px4 DP |8| 2xn-@9 THRU,14x8.5 DP
L D e &
I i T 7 15
o e I (Tl | h g E =
3 @ ) | s s s e s e o] g T P — e 0
o, |2 dd [T a e S e S
i T |y | @ ]L | 4 @_4’ | @ i 1
50 _|25 L et | e ———— e = NN il
100 < booee 2] 8
200 H
SECTION A-A (m-1)x200
9%
4-M5x0.8Px10 DP 27 3;5
PCD 70 15 —
r>A
_| 17
| 1| & | 4 -
g - | ﬂw - i = —T — 1 Mi I — nl— j VIEW B
“l Y 3 ‘_i NN 3 // NN 3 AN : - T i
g1 2 ] ] ] ‘ ———
K y, f ; L—a E 3
VIEW B 150 G NEL
(n-1)x150 8 g
L2
L1
Rail Length Total Length Maximum Stroke (mm] Mass (kg)
tham] 1 ) G (mm) H(mm) n m
L2 mm A1 Block A2 Block A1Block A2 Block
980 1089 828 700 40 90 7 5 20.4 22.1
1080 1189 928 800 15 40 8 6 22.2 239
1180 1289 1028 900 65 90 8 6 24.0 257
1280 1389 1128 1000 40 40 o) 7 25.7 27.4
1380 1489 1228 1100 15 90 10 7 275 29.2



157
108
170 4-M3x0.5Pxé DP 50 4-M8x1.25Px45 DP
150 8
‘ 131 ’ 2xm-M2.6x0.45Px4 DP ) 7 2xn-@11 THRU,@17.5x10.5 DP
14 v — — — L il
! T e flrell &
Nl I S SR 1= e — = ] (
P NS it il L= —=h I o
s LdFL P — C o —— %= —— e
e S g A B o & & Tl e & ! |
70 30 | . W‘—J - — iiifﬂL***gﬂ
130 " 4 " 4 12
SECTION A-A 200 H
8-Méx1Px12 DP [m-11¥200 100
ZW 35 g;s 3.5
18 <L
A 16
I . Gy /L ’_TI TT
T~ e ~ I T
9 A 3 — — [ L — E g‘a;
~—¢ )& 5 ‘—J S N SR S E—— | 3
S i S/, T i L LT B —
9 f U LA 150 G 5
VIEW E (n-1)x150 3
L2
L1
Rail Length Total Length Maximum Stroke (mm) Sileinll H Griral Mass (kg)
L2 (mm L1 (mm) mm mm) n m
A1 Block A2 Block A1 Block A2 Block
980 1098 811 659 40 90 Vi 5 31.9 35.9
1180 1298 1011 859 65 90 8 [ 370 41.1
1380 1498 1211 1059 90 90 9 Vi 42.2 46.2
1680 1798 1511 1359 90 40 il 9 499 539

HIWIN
K99TE14-1611

29

VIEW B



30

HIWIN
K99TE14-1611

1.10 Motor Housing and Motor Adaptor Flange

1.10.1 Motor Selection
HIWIN Mikrosystem Servo Motor

+Brake

gl:tt::t Motor :l::;ght Flange Selection Weight Driver }/x;;gh
KK30 KK40 KK50 KK60 KK80 KK86 KK100 KK130 (kg)
50W FRLS052[][JA4[] 0.45 = 2 F2 F3 F3 - - 0.58
100W  FRLS102[][JA4[] 0.6 = 2 F2 E3 E3 - - 0.76
200W  FRLS202[1Jos[] 1 - - FO FO FO F1 125 D2 1:25
400W  FRLS402[][106[] 1.45 - - FO FO FO F1 1.86
750W  FRMS752[][]08[] 2.66 - - - - F1 F2 3.32
Mitsubishi Servo Motor
. : +Brake :
gd:tt:l:t Motor }I:(I:;ght Flange Selection Weight Driver \[AkI:;ght
KK30 KK40 KK50 KK60 KK80 KK86 KK100 KK130 (kg)
10W HC-AQO0135D 0.19 F1 - - - - - - = 0:29 M2-JR-03A5 0.2
20W HC-AQ0235D 0.22 F1 - - - - - - = 0.32 M2-JR-03A5 0.2
50W HF-KP053  0.35 - F1 F1 F1 E2 B - - 0:75 MR-J3S-10A 0.8
100W  HF-KP13 0.56 - F1 F1 F1 E2 EZ - - 0.89 MR-J3S-10A 0.8
200W  HF-KP23 0.94 - - - - FO FO FO F1 1.6 MR-J3S-20A 0.8
400W  HF-KP43 1.5 - - - - FO FO FO F1 2.1 MR-J3S-40A 1
750W  HF-KP73 2.9 - - - - - - F1 2 4 MR-J3S-70A 1.4
Panasonic Servo Motor
. : +Brake :
gl:tt::t Motor :li\(lz;ght Flange Selection Weight Driver \[I\kI:;ght
KK30 KK40 KK50 KK60 KK80 KK86 KK100 KK130 (kg)
50W MSMD5AZP1 0.32 - F2 F2 F2 E3 ES - - 0.53 MADDT1105 0.8
50W MSMD5AZP1 0.32 - F2 F2 F2 E3 E3 - - 0.53 MADDT1205 0.8
100W  MSMDO11P1 0.47 - E2 E2 E2 E3 E8 - - 0.68 MADDT1107 0.8
100W  MSMDO012P1 0.47 - E2 F2 F2 F3 E3 - - 0.68 MADDT1205 0.8
200W  MSMDO021P1 0.82 - - - - F1 F1 - - 183 MADDT2110 1.1
200W  MSMDO022P1 0.82 - - - - F1 = - - 13 MADDT1207 0.8
400W  MSMDO041P1 1.2 - - - - F1 F1 - - 187 MADDT3120 1.5
400W  MSMDO042P1 1.2 - - - - E B - - 157 MADDT2210 1.1
750W  MSMDO082S1 2.3 - - - - F4 F4 F2 F4 3t MADDT3520 1.5
Yasukawa Servo Motor
; - +Brake :
gl:tt:l:t Motor }’:Z;ght Fiduge Selection Weight Driver [Wk:;ght
KK30 KK40 KK50 KK60 KK80 KK86 KK100 KK130 (kg)
10W SGMMV-A1A2A21 0.13 F2 - - - - - - - 0.215 SGDV-R90A01A 0.9
20W SGMMV-A2A2A21 0.17 F2 - - - - - - - 0.27 SGDV-R90A01A 0.9
50W SGMAV-A5ADA61 0.3 - F1 B F1 F2 E2 - = SGDV-R70A01A 0.9
50W SGMAV-A5ADA2C 0.3 - Ed F1 F1 F2 F2 - - SGDV-R70A01A 0.9
50W SGMAV-A5ADA21 0.3 - F1 = F1 E2 F2 - - 0.75 SGDV-R70A01A 0.9
100W  SGMAV-01ADAé64 0.4 - i F1 Edl F2 F2 - - 0.89 SGDV-R90A01A 0.9
200W  SGMAV-02ADA65 0.9 - - - - FO FO FO Eil 1.6 SGDV-1R6A0TA 0.9
400W  SGMAV-04ADA66 1.2 - - - - FO FO FO El 2.1 SGDV-2R8A0TA 1
750W  SGMAV-08ADA67 2.6 - - - - = E2 4 SGDV-5R5A01A 1.5

; Remarks

220V
220V
220V
220V
220V

Remarks

220V
220V
220V
220V
220V

Remarks

110v
220V
110V
220V
110V
220V
110V
220V
220V

Remarks

220V
220V
with key
no key

Mid inertia



HIWIN Mikosystem Step Motor

Series

ST40

ST55

Model

FRST011024
FRST021024
FRST022024
FRST023024
FRST121024
FRST122024
FRST123024

KK30

Oriental Step Motor

Series

CSK
2 phase

CSK
5 phase

CEKI
5 phase

micro
stepping

UMK
2 phase

RK
5 phase

ASC
a-step

Model

CSK243-AP
CSK244-AP
CSK245-AP
CSK264-AP
CSK266-AP
CSK268-AP
CSK296-AP
CSK299-AP
CSK2913-AP

CSK523-AP

CFK543AP2
CFK544AP2
CFK545AP2
CFK564AP2
CFK566AP2
CFK569AP2
CFK566HAP2
CKF569HAP2
CFK596HAP2
CFK599HAP2
CFK5913HAP2
UMK243A
UMK244A
UMK245A
UMK264A
UMK266A
UMK268A
RK543AA
RK544AA
RK545AA
RK566AA
RK569AA
RK596AA
RK599AA
RK5913AA

ASC34AK

KK30

ES

KK40
F3

E3

F3

KK40
F3
3
F3

3
F3
F3

E3
F3
F3

F3
F3
F3

KK50
F3

E3

F3

KK50
E3
F3
F3

E3
F3
F3

ES
=3
E3

E3
F3
F3

Flange Selection

KKé0
ES

F5

E5

KK80

KK86

Flange Selection

KKé0
E5
F5
E5
Fa4
F4
F4

F5
ES
EB

F5
F5
ES5
F4
Fa4
F4
F5
F5
ES

KK80

Fé
Fé
Fé

E5
E5
F5
55
E5

Fé
Fé
Fé

F5
£S5

KK86

Fé
Fé
Fé

F5
F5
E5
E5
F5

Fé6
Fé6
Fé

F5
F5

KK100

KK100

F4
F4
F4

F3
E3
F3

F3
E3
F3

KK130

KK130

F3
E3
F3

Weight Builtin Weight

HIWIN
K99TE14-1611

(kg) Motor (kg) Remarks
0.3 single axis
0.55
0.8 single axis
1.18 STD-24A 0.09
0.58 ;
0.83 axis of
symmetry
0.21
Builtin Weight Builtin Weight
Motor (kg) Driver (kg)
PK243-01A  0.21 CSD2109-P 0.12
PK244-01A  0.27 ESD2112=P1 0512
PK245-01A  0.35 CSD2112-P 0.12
PK264-02A  0.45 CSD2120-P 0.12
PK266-02A 0.7 CSD2120-P 0.12
PK268-02A 1 CSD2120-P 0.12
PK296-03A 1.7 CSD2145P 0.2
PK299-03A 2.8 CSD2145P 0.2
PK2913-02A 3.8 CSD2140P 0.2
PK523A 0.1 SD5103P3  0.04
PK543NAW  0.21 DFC5107P 0.2
PK544NAW  0.27 DFC5107P 0.2
PK545NAW  0.35 DFC5107P 0.2
PK564NAW 0.6 DFC5114P 0.2
PK566NAW 0.8 DFC5114P 0.2
PK569NAW 1.3 DFC5114P 0.2
PK566HNAW 0.8 DFC5128P 0.22
PK569HNAW 1.3 DEE5128P%(0-22
PK596HNAW 1.7 DFC5128P 0.22
PK599HNAW 2.8 DFC5128P 0.22
PK5913HNAW 3.8 DFC5128P 0.22
PK243-01 0.21 UDK2109  0.47
PK244-01 0.27 UDK2112  0.47
PK245-01 0.35 UDK2112  0.47
PK264-02 0.45 UDK2120  0.47
PK266-02 0.7 UDK2120  0.47
PK268-02 1 UDK2120  0.47
PK543W 0.25 RKD507-A 0.4
PK544W 0.3 RKD507-A 0.4
PK545W 0.4 RKD507-A 0.4
PK566W 0.8 RKD514L-A 0.85
PK569W 1:3 RKD514L-A 0.85
PK596W 1.7 RKD514H-A 0.85
PK599W 2.8 RKD514H-A 0.85
PK5913W 3.8 RKD514H-A 0.85
ASM34AK 0.15 ASD10A-K 0.25

31



HIWIN
K99TE14-1611

1.10.2 Motor Housing and Motor Adaptor Flange

KK30

Motor Housing FO

11.5 25
13
SL 2
Ly
i@ﬁ i — g‘% b
_____________ B [TJ%E =
&
9
Motor Adaptor Flange F1
44 5
11.5 25 3]
5 I
P i
— i | =ke
e SY
,,,,,,,,,,,,, - g
Motor Adaptor Flange F2
44 5
11.5 25 3
10
Ly i
ﬁg ﬁqg_ i g%’
,,,,,,,,,,,,,, s

30
F/&ﬂ\§
| /.« f%h\
WS
w T o Y
4-M2.6x5 DP
P.C.D.33
30

o
~

\

@)
Bk §

4-93.5 THRU,06x3.5 DP
P.C.D.28

KK40

Motor Housing FO

49
12 L525 PCD29 4-M3x0.5Px6DP
8]
ateee e o R
— ] 'S ng' QQK/ Bl
Motor Adaptor Flange F1
49 8.5 a2 4-M4x0.7Px8.5DP ,PCD46
; — | & IS
0 W &7
— B PP ‘ 29|
: g g /¥
Motor Adaptor Flange F2
49 85 2 4-M3x0.5Px8.5DP PCDAS
‘ ! H & \5
(remmiTI e
TR 95,
B

4-@3 THRU

Motor Adaptor Flange F3
4b4 [

115 25 2 ’;’g
—l I ES=C R ﬁ\ m
,,,,,,,,,,,,,, s Sy ° ”&J i

LY o~ g
4-3 THRU,@5x3 DP\
Motor Adaptor Flange F3
49 7 31
=125 4-@3.5Thru,
2 6x3.5DP
2 <
E F; *‘r 7;4%% . %N :/E.mxo.sp Thru
— ] __|ils Z&jea
& K
Mount Housing HO
12 14.5
9 39.6

-

8 \

-

Danh7

275

13

os|



KK50

Motor Housing FO
60
14 34
6.5 4-M3x0.5Px6 DP
TU— P.C.D.33
j
—a AT 1% ol L ER)
= 8§ 80,08,
e | P = 2 e W e\%
2 s
=]
Motor Adaptor Flange F1
60 .5,
14 34 3.2

4-M4x0.7Px8.5 DP

ks | Tl
10 P.C.D. 46
|
= =8 - /
| 1 =)
S —
s o | 40
Motor Adaptor Flange F2
60 .5
14 34 | 32
6.5 J 4-M3x0.5Px8.5 DP
[y P.C.D. 45
10
T I . T /\’E‘
=1 [N _.1 7 P NCZSNN
. o %1 i
I ) — IR TN/ O
S 2 Y
s g‘ 040
Motor Housing FO
59
185 305 4-M4x0.7Px8 DP
155 P.C.D. 40
9 $
oy
T _ SRR\ /A
-1 % o | f@)z :
i & 3., [ @l o
— = S “‘I o A9 Fg
s |n_‘ 4-M3x0.5Px8 DP
Motor Adaptor Flange F1
59 10
18.5_ 305 3.5 4-M4x0.7Px10 DP
15.5 P.C.D. 46
9
; al ] e /\,
- I h@ﬁ
i 8 8 3, s
R R
S m'[ ‘ 042
Motor Adaptor Flange F2
59 10
18.5 305 3.5 4-M3x0.5Px10 DP
5.5 P.C.D. 45
9
i i N \/\5:
=0 (= N W | Al
i S| 3 3 m[ ®
1 [ <y — = J§
s uq[ 042 X
Mount Housing HO
18 16 59.6

Fs_l

4-M4x0.7Px15DP

@30h8
44.5

e { L@

ol
105
33

@6h7

HIWIN
K99TE14-1611

Motor Adaptor Flange F3
60 7

- 16.531. 49.4 4-03.5 THRU

~id | “—‘31 06x3.5 DP
| i10 | g—j\‘h
i . _ &
: —lz g':l I e f? L EETR

a H— g Q@\\/@Q i

s 49

Mount Housing HO

14 _ 16.5

‘ T}&

49.4

=1 | -
Ebﬁ gr ™|
g
Motor Adaptor Flange F3
59 10 4-M5x0.
18.5 _30.5 . 3

o
o

o

4-M3x0.5Px8DP

8Px10 DP

s

7

Ll e
)

_ﬂﬂé}z_—i_ E 10’
1818 L:d
1 ' = 50
Motor Adaptor Flange F4
59 10 4-M4x0.
18.5  _30.5 3

55 oﬁg

7Px10 DP

9 Al
= ' ZIT M )
b BEE o T et
p— 1=% T
b = 47.14
— § 057.7
Motor Adaptor Flange F5
59 8
18.5  30.5 59.6
5.5 31
’ .
U - ‘é\ ¥
=] : EQI 3 mJ_e:»_'g '_ofz‘;’ 2
] i i 8 N le A ; &3
= [ 4-03.4 THRU
S e Péx4 DP

Mount Housing H1

18
F
|

16

4-M4x0.7Px15DP

230.4h8
44.5

el RIERC

@6h7

33



HIWIN
34  K99TE14-1611

KK80

Motor Housing FO

88
23 51
28
18] 3.5
i pC
—— 1 — = § E’;
n
— 2,
=
o
s
Motor Adaptor Flange F1
88 10
23 51
28

Ko

_ P

B4b
0.05
25030

P.C.D. 70

-
%

Motor Adaptor Flange F2
88 8
3 2851 4-M4x0.7Px8 DP
BT P.C.D. 46
18|
1 H = &
—1 i o
N I e Y | IO § @ t B
— fl
| 1 glg‘ CLNGE 2
2 = - Y
i 062
8
=
Motor Adaptor Flange F3
88 8
23 2851 4-M3x0.5Px8 DP
*T— P.C.D. 45
ppEm As
— AT 2 1
| f ST
] H- %
=
(=i}
+O+
s
Mount Housing HO
23 28
20 79
2 18 T 40 | 4-M5X0.8PX10 DP
\ ——
| o |
o1 3 ol B @
| m = = 1St ® bl Nt
=4
s m‘
S o

Motor Adaptor Flange F4
88 12
23 51
28 3.5

— Bl

046
970:5-05

Motor Adaptor Flange F5
88 8
23 51
T28_
18|
=1 B4 53
Motor Adaptor Flange F6
88 8
23 51
28 _
18
=1 =4 (g
g

4-M5x0.8Px10 DP
P.C.D. 90

o1

450 |

4-M4x0.7Px8 DP

63
5

[30

0
o

f

Q

50

L %
50
062

&

< 9
o)
T

4-M4x0.7Px8 DP

63

n

=)

5

)

[30

|

%
n

"

e

47.l1 4

062

47.14




HIWIN
K99TE14-1611 35

KK86

Motor Housing FO Motor Adaptor Flange F4
1 87 12
23 50 23 50
28 - 4-M4x0.7Px8DP 85 28
8 & 18]
L = 7 T
| 2 i1 ©
| Seol | [ ek NN ) ] et 3ol o
= {4 &5 = (B 14l of4s
— | ] 1 — | = L S
‘L 777777 il
35 || ——
©
35 L FNex0.8Px100P
Motor Adaptor Flange F1 Motor Adaptor Flange F5
87 10 87 8
23 50 23 50 85
28 85
18 58_8_ a0
i) - 3 .
e || o g ﬁv ] &
—=-E=—H | &g 7 e
I N s |15 ||
— | IVEESR— © — | EE— I
Y, {
-
4-M4x0.7Px8DP
Motor Adaptor Flange F2 Motor Adaptor Flange F6
87 8 87 8
23 50 . 3. 50 85
28
18] 18] ‘ 47:14 ‘
v o — K = J] \§
S —_— | | 2 o
— =1 5EE = ——ITEE—1T380 = T 1 @
! -
] — i 8 ‘ ] ] Il | 81 ey /%@ | ® ;
6 ‘_X 4-M4x0.7Px8DP
4-M4x0.7Px8DP
Motor Adaptor Flange F3 Mount Housing HO
87 8 i 2 85
23 50 18] 7
28 85 [13, \ 40 | 4-M5x0.8Px12DP
1 — ! !
— . A &
gv 1 = & 3 @9 g
- Il Sl o & Q IS
_ ““ :7’# 5 g § g ﬁ | = g Q\J@. ~
i — & g—
Losmane wmad I Q N

4-M3x0.5Px8DP



36

HIWIN
K99TE14-1611

KK100

Motor Housing FO

94
27 45
32 99
- 4-M5x0.8Px10 DP -
22 ~ P.C.D. 70 75 P
L
N
[T R \5
= — C’;t x
— F 1 S
Motor Adaptor Flange F1
94 12 4-Méx1Px12 DP
35 P.C.D.90 80
-
[E] g - 5y
= - RS - @
0 I s 8 =
= R = grl i &
| ¥,
L e
MotorAdaptor Flange F2
94 2
35 4-M5x0.8Px12 DP B
- P.C.D.90 180
S =
. R - el ©
lim 8 7N\
= I gl s2 o~ 1 \)
- T s R S | T
— A A ] B %l B SN A bl 2
| gl
==
Motor Housing FO
100
35__35 35 8-Méx1Px120P 128
29 = T
e = 100 -
v 8 = e
{ =)
— | (IO=] 32 ) Pf &\ \o
R — QE @ T T
— O Q E‘P,I_ P J\& é/a
S i
)
LY
Motor Adaptor Flange F1
128
100 12 4-M5x0.8Px12DP_ ~‘T>
L = [l
1= T1E /
— | | & | — 3
Q)
9
QQ
Motor Adaptor Flange F2
100 15 4-06.5x15DP 128
3.5

| H|
|._@60 |
270139

Motor Adaptor Flange F3
94 12 B
25 4-M6x1Px12 DP -
HE Lj— |—
[ % i}
ﬂ u LH g5 o
e A
- !
Motor Adaptor Flange F4
182
94 12 25 4-Méx1Px12DP r&,‘
= s L
Ei | L—‘\ri}t %? B
Ep =Ny
dbi—t— &
Mount Housing HO
59 0
S 88.5
16 22 ﬁ
= ﬂ NI F7N
_ | P2 B &
__1 b ﬁ’ L]
s
Motor Adaptor Flange F3
100 12 4-Méx1Px12DP 19228
3.5 —ars
T 5 I l?ﬁgft\\@ i1
— 3 § gm [1}
TR
!
Motor Adaptor Flange F4
100 J2 4-M5x0.8Px12DP 128 ‘
3.5 o — ]
7 I ig N,

83




HIWIN
K99TE14-1611 37

1.11 Optional Accessories

: ©
bos [ ‘ q ‘
T "’%_7)?[ TTTTTTIT 11T T@?:::ﬁ:i@ﬁ Wil 1T ’J
L ELL e B 1]
© ot 0 s i TR :
T = -t BT E |
DAL s L el e . @) S .
/% O Y s s A AR ARR AR RN
L LU VA UL L L L L L L @ RERRRRARAANA
Unit : mm
Nominal Width Rail Length Stroke Min. Max. a b c d
75 22 15 37
100 37 20 57
KK30 _ _ _ _ 47 22.5 15.5 23
150 67 30 97
175 82 35 117
200 97 40 137
100 35 16 51
KK40 150 63 27 90 60 29.5 19 33
200 93 37 130
150 60 21.5 81.5
200 95 29 124
st 250 130 36.5 166.5 82 37 i i
300 160 46.5 206.5
150 56 16 80
200 106 20 126
300 166 40 206
KKé60 400 234 56 290 84 455 24 54
500 306 70 376
600 366 90 456
340 181 42 223
440 257 54 311
540 333 66 399
KK80 640 409 78 487 106 62.5 34.5 75
740 485 90 575
940 649 108 757
340 188 36 224
440 260 50 310
540 336 62 398
KK86 640 408 7% 484 110 61 32 75
740 480 90 570
940 640 110 750
980 769 58 827
1080 855 65 920
KK100 1180 945 70 1015 150 73 41 95
1280 1029 78 1107
1380 1115 85 1200
980 748 62 810
KK130 B 216 il ik 180 89 53 108
1380 1084 94 1178

1680 1346 s 1459



38

HIWIN
K99TE14-1611

1.12 Switch

Switch rail

Switch

Nominal Width a

KK40
KK50
KK60
KK80
KK86
KK100
KK130

Switch 1: OMRON EE-SX-671

41.5
45.5
51
61
63.5
7
85.5

Nominal Width a

KK40
KK50
KK60
KK80
KK86
KK100
KK130

Switch 2 : OMRON EE-SX-674

36.5
41.3
46.2
56
59
66
80.8

0.8

24

5.8

54.1
59
63.8
74
76.7
84
9815

52.8
63
65.7
73
87.5

® 0 N = =

10

14.5
19
18
20
24

0.5

10.5
14
18
18
20
2315

12
"
13
19
18
20
23

23'5



Nominal Width
KK40

KK50

KK60

KK80

KK86

KK100

KK130

g
40
39:5
445
54
57
64.5
79

Switch 3 : PANASONIC GX-F12A
Switch 4 : PANASONIC GX-F12A-P

Nominal Width
KK30

9
28

Switch 5 : YAMATAKE APM-D3B1-03

o7

12
13
15
19

1.8

2

HIWIN
K99TE14-1611

13:5 9.5
i 17:5
2 9
2 13
1 13
2:5 15
-6 19
1
I——
g
f
i i
518 128

39



